A LITTLE GENETICS PRACTICE I

Use these genes:
· N is dominant for nose-picker, n is recessive for non-nose-picker.
· B is dominant for butt-scratcher, b is recessive for non-butt-scratcher.
· L is dominant for non-nappy leg hair, l is recessive for nappy leg hair.

1. What is the phenotype of someone who’s genotype is BB?
2. What is the phenotype of someone who’s genotype is Nn?
3. What is the phenotype of someone who’s genotype is ll?
4. What would a person’s genotype be if they were a non-butt-scratcher?
5. What would a person’s genotype be if they had non-nappy leg hair?
For each of the following questions, make a Punnet Square and give the 

genotypic ratio and phenotypic ratio:

6. Cross a NN with a Nn. 
7. Cross a ll with a LL.
8. Cross a Bb with a Bb. 
9. Cross a heterozygous nose-picker with a homozygous dominant nose-picker.
10. Cross a homozygous recessive non-butt-scratcher with a hybrid butt-scratcher.
11. Cross a nappy leg-haired person with a hybrid non-nappy leghair person.
12. Cross 2 parents, both of whom are heterozygous butt-scratchers.
